Finding Trigonometric Ratios

Find the value of each trigonometric ratio.

Z
A c Z5 A
40
14 50 32 21 20
B
B 28 C X Y Y
sin C = sin Z = tan A =
A X 2l Y% &
40 30 20 9 15
29
B C
50 - B 12 C
tan B = cos X = cos C =

Use a calculator to find the value of each to the nearest ten-thousandth

sin 77°= tan 17° =




Finding Trigonometric Ratios

Answers
Z
A o 29 5
40
14 30 32 21 20
B 48 C X A Y B
7 3 21
sinC=__25 sihZ=__5 tanA= 20
A X 21 Y A
40 30 - .
29 o
B C
>0 7 B 12 C
3 21 4
tan B = 4 cos X = 29 cos C = 5

sin 77°= 0.9744 tan 17° = 0.3057




